SDI Sprayer, Models
TW160 & T225

S

1]

D

SPRAYING DEVICES INC.

RevD/PI252/305jj

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 Tel:559-SDI-5555/Fax: 559-SDI-5591




Specify

Specify

Item Part
Number| Number Description Qty
e ——————————
1 15-056 Vent Assembly 1
2 15-053 16" Lid 1
3 16-203 16" Strainer Basket 1
4 15-054 16" Rim 1
5 15-055 C-Gasket 1
6 15-163TR | Tank, 160 Gallon 1
6 15-228TR | Tank, 225 Gallon 1
7 52-112 Elbow Adaper 3/4 MPT x 3/4" HB 2
8 16-115 Tank Fitting 3/4" DT, Nylon 1
9 64-585 Spray Tip, DCERS 6
10 50-413SS | Elbow 1/2" SST, 45° 6
12 50-280SS | Plug 1/4",SST 1
13 16-087 Manifold 1
14 53-884 Plug 1/2" PVC 2
15 53-897 Pipe Nipple 1/2x 2", Poly 2
16 16-050 Jet Agitator 6
17 53-899 Pipe Nipple 1/2x 4", Poly 2
18 24-112 Hose Clamp #12 2
19 53-901 Close Nipple 1/2" PVC 2
20 53-134 Adapter 3/4 MPT x 3/4" HB 1
21 21-930 Hose 3/4" 1D, 200 PSI, Per Foot
22 52-276 Elbow 1" x45°,PVC 1
23 53-204 Nipple 1 x4",PVC (Cutto2") 1
24 16-117 Tank Fitting 1" DT, Nylon 1
25 53-912 Close Nipple 1" ,PVC 1
26 20-050 Hydraulic Motor 1
27 53-435 Adapter 1 MPT x 1" HB 1
28 53-826 Tee 1", Poly 1
29 53-886 Pipe Plug 1", Poly 1
30 24-116 Hose Clamp #16 6
31 83-100 Hose 1", 200 PSI, Per Foot
32 $910-HYD5341 | Hydraulic Motor Flange Kit 1
33 9910-D115 | Pump, 30 GPM, 200 PSI 1
34 52-394 Hydraulic Nipple 2
35 50-040 Elbow 1/2 MPT x 1/2" MJIC 90° 2
36 9910-580080 | Pump Base 1
37 50-580SS | Pipe Plug3/4",SST 1
38 64-805 Relief Valve 1
39 27-300 Pressure Gauge 0-300PSI 1
40 47-103 U-Bolt 1/4x 1-1/4 x 2-1/4" 1
41 52-112 Elbow Adapter 3/4 MPT x 3/4" HB 2
42 60-203 Gate Valve 3/4" 1

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278¢Tel 559-SDI-5555*Fax 559-SDI-5591

3/23/05




Part
Number

51-5018S
60-324
52-114
50-030
60-475
50-034
11-462
53-445
57-117S
57-123
57-126
52-128
60-327-3PP
53-940
47-207
57-121
11-394
83-150
24-124
17-131
10-228
11-556
11-723
42-108SS
50-038
50-5208S
50-51188
NPN
24-116S8S
11-440
16-922
24-104
16-100
55-050
55-052
83-750C
11-101

Close Nipple 3/4", SST

Ball Valve 3/4"

Elbow Adapter 3/4 MPTx 1" HB
Elbow 1/2MPT x 1/2" MIJIC

Flow Control Valve

Elbow 1/2MIJICx 1/2" MPT, 45°
Suction Bracket

Adapter 1-1/2 MPT x 1-1/2" HB

Solid Bowl

20 Mesh Screen

O-Ring

Elbow Adapter 1-1/2 MPT x 1-1/2" HB
3-Way Valve 1-1/2", Bottom Load

Pipe Nipple 1-1/2" x 10", Poly

U-Bolt 3/8 x 2-1/2 x 3-1/4"

Body for Strainer

Rear Tank Strap

Suction Hose 1-1/2" ID, Clear, Per Foot
Hose Clamp #24

Suction Flange 1-1/2"

Frame, 225 Gallon

Front Tank Strap

Spacer 1/2"

Flatwasher 3/4" , SST

Hydraulic Elbow 12 MPT x 12" MPT
Tee 3/4" ,SST

Elbow 3/4",SST

1/2" x 50-032 Fitting, Hydraulic Hose, Specify Length
Hose Clamp #16, SST

Relief Valve Bracket, 9910-D115 Pump
Clear Tubing 3/8" ID, Per Inch

Hose Clamp #4

Elbow Adapter 3/8 MPT x 3/8" HB
Rubber Washer 3/4"

Nylon washer 3/4"

Hose 3/4" ID, 150 PSI, Clear, Per Foot
Vortex Baffle

Description Qty

)—-t)—-lr—dr—ir—tb—-tb—t)—i»—l»—kb—iv—dhl[\))—bo'\

N

Specify

—_— DN W= NN~ =B

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278¢Tel 559-SDI-5555°Fax 559-SDI-5591

3/23/05




